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Q.1  Choose the correct option f.e. A,B,C, a2 nd D, o
I 1f A'=-A then such a matrix is called ........ N Matrix.
® Symmetric - Skew symmetric @ Inverse . ®  Kentity
‘[I. A vector whlch joins a given polnt P in the plane or space with the. origin is called .. seereen VECLOT. .
. ®  Nul ® - Unite _ @ Posinon ® Normal
iil. Two vectors aand b are sald 1ohe v lflhey have the same magnitude and direction,
® - Different '®  Equal ©®  Unegual . ®  Parallel
TR 137 R ' ' .
® i i ® ;- & L
v. Volume of tatrahedron with a, b, cas its co-terminal cdges Is V = .o .
®  la@xd) © lw+bho) ® lawxa) ® Botha&b
vi. The 15% term of the arithmetlc sequence whose first threeterms are 20, 16.5,and 13 IS..o.mimumimimeimm
® 2 ® -2 ® 30 ® 0
vii. Geometric mean between=3/10 and -5/6 IS wuvmensn -
® 14 ® 12 @ 1/2 ® -1/4
vili. 1fthe third term of a geometric sequence is 27 and the fifth term ls 243, then the value of ris...
® 4 5 ) o +3 @ 6
R R o _
® 540 @ 5040 ©® 4050 ® 450
x. How many dilferent words can be made out of the letters of the word “triangle”? .
® 40000 ® 40320 ® 40500 ® a&b
xi.  Domaln of [{(x)=%-1/%-4 iSsimensvennrs : N
® . R ' $ r-0 ® R-{1) @ Rr-{0)
DL 1115 Yo . ’
. sin (m-§3) 4 sin (w+f) - © Cos () ® Cos (w+)
xiii. Thedistance belwc.en the points A (1, 6), B (3, 8) I8cnnseuscerrinne
® 22 ® 2 ® 1 ® 8
xiv.  Cos (m/2) =
® 4 ® 45 8 ¢ ® 2
av.  If none of the angle of a triangle is right angle, the triangle Is called . :
®  Acuie ® - Obtuse ®  Isosceles @  Oblique
avi. The area of a triangle having sides of 43{t, B9ft, and 1200 iSsmrersresrerrrs ’
® 1500 ® 152370 @ 1525 ® 1550
xvil. A complex number ¢+ di 1s called the |1|ultlpllcalive inverse of a + bi complex no. if (a-+ bl)(c‘ +id)=
® 1 ® o © g+bi ® 1 + 01
xvill.  Factorization of Z2 +4 IS i , _ '
@ (Z+2)(2-2) ® {Z+21)(Z 2) e (z+2)z-2) ® (z+2)(Z-20)
xix. A matrix all whose elemeénis are zero is called @ suvnsnnnne o HALTI,
®  Scalar ® Square &  lero ©  Symmetric
xx.  Transpose of a colunins MAtCIX IS e Matrix.
@ low Square ©  ldentity ®  Column
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Time Allowed: 2:40 Hrs Section-B&C ' Tolal Marks: 80
' “Section - B” - Marks: 50

Q.2 Writeshort answer of any TEN of the following parts. Each part carries equal marks,
{) - Show that forali complex numbers zyand z;,| 2,2, [H 2, || 2, | '
(i) . a b o |la. 1 x
Showthat{l m n|=ib, m y '
x y ozl |e n oz
(lll) Pmd the termmal pomt ofthe vector F=i+3f— 3k if the initial pointis {~2, l 4

i) lnsert four arithmetic means between 17 and 32,

)

The 20 term of an H.P is % and the fifth term is— :11- Find the 12 term.

vi ' _ .
) Write in terms of factorial w _

il , B '
(i) A student figures that the probability of passing an .algebra test is—g. What is the
probability of failing the test? —

(viii) - g
Find the coefficient of x° in (x + "’z‘) '
X .
(i) Given that f{x)= x* —ax® + b+ 116 1(2) =3 and J(~1) = 0. Find the values of a.
and b, ]
(X Show that sin(a + #)sin(a — 3) = cos® f—cos’ @

"
3 Prove that M:}o cot@

sin50 -sin30 _ _
“(xii) Ifa cone is 8.4cm high and has a vertical angle of 729, calculate the diameter of its
base. _ '
{xiii) Draw the graph of y =sin2x, 0Sx <2z

“Section -~ C” Marks: 30
’ NOTE Attempt any THREE questions. Each questiou carries equal marks.

Q.3 i )-1

~/3i

b) Find a unite vector perpendicular to both & =i+ j+2k and b= —2t +j-3k
Q& a) Ifay =1, ay=m, a; =n;showthat ], =m’

) Prove by mathematicatinducton [ [ [ o +"ﬁ"'+2—”+3
) Prove by mathematical induction 5 g | F g ) 5 17 4

a) Sepal ate into real and imaginary parts (

n . .
Q.5 a) If sina =g and sin 8 =%, and both @ and f are measures of first quadrantal
angleé, then find cos(e + )
b) Solve the trlangle for which length of threc sides are a=9, b=7 and c=5
Q.6 1 0 -2 '
a) Find the rank of 2 2 1
-} 2 3
n n-l
b) Provethatr.c=n.¢
. r r-1
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